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�"#$�+"$:�#5�15
ก������	 ก����1���
�"#$�+"$  ก���ก=)/1$+07 ก����)��+/1$+07  
ก�����
��,29/1$+07-7,�3�*�:�#5�15
ก������	  *�+7��6�)6��
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4�
5
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�
 520 

  
 

ก������������ 
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"$.01)��2���3�
%&ก'�/��
!"�
4�
5
���2��6��/7� 
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�
ก��ก��2
6ก78<+*��$	<��*�+/��
*$
6��*<$;�
�� 
    1. ก��2
6/
�6ก78<+*��$	<��D6	5�1�0*�	�+��
< (Yamane/,1973 :727-728) 

                                                 
21 Ne

N
n

+
=  

         

                                 �+"#$          N  =  /
�6ก78<+��,��ก� 
                                                  n  =  /
�6ก78<+*��$	<�� 
                                                  e  =  
��+
7�6�
7"#$
/$�ก78<+*��$	<��:�#	$+��);61 (.05) 

                               -:

<�     
2)05.0(5201

520

+
=n  

                                                    =    226.09 

63 
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       ;61/
�6/$�ก78<+*��$	<�����
.01)��2���3�
%&ก'�/��
!"�
4�
���
�
 227 

 
   2. :��ก���8<+ก78<+	<$	*�+��6�<�
 (Propotional Random Sampling)  D6	�:�	)
��6�<�
ก78<+*��$	<����ก/
�6�3�
%&ก'� ��ก
��
�&��8<+$	<���<�	 (Simple Random Sampling) 
�!"#$521;61ก78<+*��$	<��:�#ก�,��	 ( 6����	�"#$�3�
%&ก'�5
\�
.
�ก �)D6	;61ก78<+*��$	<��6��
�� 

    2.1  �3�
%&ก'�/
�6�7=ก  ��,ก$)61�	.01)��2���3�
%&ก'�/��
!"�
4�
 
���
�
 63 

 

     2.2  �3�
%&ก'�/
�6ก7��  ��,ก$)61�	.01)��2���3�
%&ก'�/��
!"�
4�
 
���
�
 101 

 

     2.3  �3�
%&ก'�/
�652]<  ��,ก$)61�	.01)��2���3�
%&ก'�/��
!"�
4�
 
���
�
 63 

 
 
����� 1   ���
�
��,��ก�-7,ก78<+*��$	<��/$�.01)��2���3�
%&ก'�/��
!"�
4�
5
���2��6��/7� 

   -	ก*�+/
�6�3�
%&ก'� 

��,��ก� ก78<+*��$	<�� /
�6�3�
%&ก'� 
.01)��2���3�
%&ก'�/��
!"�
4�
 .01)��2���3�
%&ก'�/��
!"�
4�
 

�3�
%&ก'�/
�6�7=ก 144 63 
�3�
%&ก'�/
�6ก7�� 231 101 
�3�
%&ก'�/
�652]< 145 63 

��+ 520 227 
 
 


 �!����!����"�#"�ก������� 
 

  5
ก������	
����
��.01����	5�1�
�"#$�+"$5
ก������	6��
�� 

  1.  �
�"#$�+"$:�#5�15
ก���ก=)��)��+/1$+07���
-))�$)3�+ (Questionnaire)      
:�#.01����	��1��/&�
�$� 521
�$)
78+�
"�$2�/$�ก�,)�
ก�����-.
:8ก/��
*$
 D6	-)<����
 3  *$
 
6��
��  

       *$
:�#  1  ���
-))�$)3�+/1$+07�ก�#	�ก�)�3�
\�!�<�
*��/$�.01*$)
-))�$)3�+   +�7�ก'`,���
-))��������	ก�� (Check List ) 
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        *$
:�# 2 ���
-))�$)3�+�ก�#	�ก�)ก���(�)�*���
*�+ก�,)�
ก�����-.
/$�
.01)��2���3�
%&ก'�/��
!"�
4�
 5
���2��6��/7�  7�ก'`,/$�-))�$)3�+���
-))+�*���<�

��,+�`
<� (Rating Scale) -)<����
 5 �,6�) *�+�ก`d9ก����6/$�7��
��9: (Likert)  

�,6�)  5     2+�	3&�      ก���(�)�*���
*�+ก�,)�
ก�����-.
+�ก:�#�86  
�,6�)  4     2+�	3&�      ก���(�)�*���
*�+ก�,)�
ก�����-.
+�ก   
�,6�)  3     2+�	3&�      ก���(�)�*���
*�+ก�,)�
ก�����-.
��
ก7��   
�,6�)  2     2+�	3&�      ก���(�)�*���
*�+ก�,)�
ก�����-.

1$	  
�,6�)  1     2+�	3&�      ก���(�)�*���
*�+ก�,)�
ก�����-.

1$	:�#�86  

D6	+�/1$
��3�+:���2+6 50 /1$  e&#�-	ก���
/1$
��3�+���-
ก*�+/��
*$
ก���(�)�*���
*�+
ก�,)�
ก�����-.
/$�.01)��2���3�
%&ก'�/��
!"�
4�
 7 /��
6��
�� 

1. ก��*����++*�4�
�ก�#	�ก�)$
�
*   ���
�
    8   /1$ 
2.  ก��ก��2
6��*38��,��
9               ���
�
    7   /1$ 
3.  ก��!�f
�ก7	8:g9                          ���
�
    7   /1$ 
4.  ก����1����h�2+�	�,	,��
ก7�� ���
�
    7   /1$ 
5.  ก��ก��2
6-.
�(�)�*���
            ���
�
    7   /1$ 
6. ก���(�)�*�*�+-.
                         ���
�
    7   /1$ 
7.  ก7;ก/$�/1$+07	1$
ก7�)              ���
�
    7   /1$  

*$
:�#  3  ���
-))�$)3�+ �!"#$3�+�i]2�-7,/1$��
$-
,5
ก���(�)�*���
*�+
ก�,)�
ก�����-.
5
-*<7,/��
*$
/$�.01)��2���3�
%&ก'�/��
!"�
4�
5
���2��6��/7� ���

-))�$)3�+�7�	��j6 (Open-ended  Questionnaire)   
 

ก��$�#��
 �!����!�ก������� 
 

ก����1���
�"#$�+"$5
ก������	 .01����	;616���
�
ก��*�+/��
*$
  6��
�� 
1.  %&ก'��$ก���  *���� ��
����	:�#�ก�#	�ก�)ก�,)�
ก�����-.
/$��3�
%&ก'� 

-71�!����`���1��-))�$)3�+\�	5*1$�
9��,ก$)/$�ก�,)�
ก�����-.
5
 7 /��
*$
 
"$ ก��
*����++*�4�
�ก�#	�ก�)$
�
*  ก��ก��2
6��*38��,��
9  ก��!�f
�ก7	8:g9  ก����1����h�2+�	�,	,
��
ก7��  ก��ก��2
6-.
�(�)�*���
  ก���(�)�*�*�+-.
  ก7;ก/$�/1$+07	1$
ก7�) 

2.  %&ก'��0�-))/$�-))�$)3�+-7,-))��ก2
���"$  *���� �$ก���-7,
��
����	*<��l �!"#$���
-
�:��5
ก����1��-))�$)3�+ 
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3.  
��-))�$)3�+:�#��1��/&�
��
$$����	9:�#��&ก'�  �!"#$*����$)-ก1;/
/1$)ก!�<$� 

4.  
��-))�$)3�+-7,:�#���)��8�-ก1;/-71�;�521.01���#	���]  ���
�
 5 :<�
 
*����$)
��+�:�#	�*��*�+�
"�$2� (Content Validity) 
��+
�$)
78+/$��
"�$2�-7,61�
ก��5�1
\�'�  
��+�2+�,�+ 
��+30ก*1$� 
��+�+)0� 9̀/$�/1$
��3�+ D6	ก��2�
<�6��
�
��+�2+�,�+
�,2�<��/1$
��3�+ก�)7�ก'`,�n!�,/$��
"�$2�*�+��g�ก��/$�D����
77�#-7,-o+�)�7*�
 (Rovanelli 
and Hambleton, $1��3&�5
 .<$�%��  �� �̀�	9%8\��%9, 2546 : 140) 

 + 1 �+"#$-
<5��<�/1$
��3�+
��
��+��3��6;61*��7�ก'`,!s*�ก��+:�#*1$�ก�� 
    0 �+"#$;+<-
<5��<�/1$
��3�+
��
��+��3��6;61*��*�+7�ก'`,!s*�ก��+:�#

*1$�ก�� 
 -1 �+"#$-
<5��<�/1$
��3�+
��
;+<��+��3��6;61*��*�+7�ก'`,!s*�ก��+:�#

*1$�ก�� 

     
��/1$
��3�+:�#+�6��
�
��+�$6
71$�*���-*< 0.60 /&�
;� ;���1��-))�$)3�+
*<$;�  

5. 
��-))�$)3�+;�:67$�5�1 (Try Out) ก�).01)��2��:�#�(�)�*���
5

�3�
%&ก'� 5
���2��6��/7� :�#;+<;61���
ก78<+*��$	<�� ���
�
 30 

 �!"#$2�
<�
��+��"#$+�#
/$�
-))�$)3�+ (Reliability)  D6	5�1�0*�ก��2�
<���+��,��:g�u-$7v� (Alpha Coefficient) /$�   

�$
)�
 (Conbach,  $1��3&�5
 .<$�%�� �� �̀�	9%8\��%9  2546 : 147) .7���ก(�<�;61
<�
��+��"#$+�#

��+:���n)�)�:<�ก�) .94 -7,��	61�
*���-*< .70 - .87 

6.  �+"#$;61-))�$)3�+:�#+�
��+��"#$+�#
-71� 
��-))�$)3�+;��ก=)/1$+07�!"#$
6���
�
ก������	*<$;� 
 

ก��
ก%�������&#��'� 
 

5
ก���ก=)��)��+/1$+07.01����	;616���
�
ก��6��
�� 
1.  .01����	/$2
���"$-
,
��*����ก\�
����ก��)��2��ก��%&ก'� 
`,%&ก'�%��*�9  

+2���:	�7�	 ��/7�

��
:�9  ��:	��/*�i**�
� 3&�.01$��
�	ก�����
�ก��
�/*!"�
:�#ก��%&ก'���/7�  
�/* 1  .01$��
�	ก�����
�ก��
�/*!"�
:�#ก��%&ก'���/7�  �/* 2  -7,.01$��
�	ก�����
�ก��
�/*!"�
:�#
ก��%&ก'���/7�  �/* 3 -71�/$2
���"$
���<�-))�$)3�+��ก.01$��
�	ก�����
�ก��
�/*!"�
:�#
ก��%&ก'���/7� �/* 1 .01$��
�	ก�����
�ก��
�/*!"�
:�#ก��%&ก'���/7� �/* 2  -7,.01$��
�	ก��
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���
�ก��
�/*!"�
:�#ก��%&ก'���/7� �/* 3 3&�.01)��2���3�
%&ก'�/��
!"�
4�
5
���ก�6:�#���
ก78<+
*��$	<�� D6	521.01)��2���3�
%&ก'�/��
!"�
4�
�<�-))�$)3�+ก7�)  ���
�ก��
�/*!"�
:�#ก��%&ก'�
:�#.01)��2���3�
%&ก'�/��
!"�
4�
���ก�6$	0<\�	5
 30 ��
    

2. .01����	��)-))�$)3�+
"
61�	*
�$�\�	5
 30 ��
 :�#���
�ก��
�/*!"�
:�#
ก��%&ก'���/7�-*<7,�/* 

3. 31�.01*$)-))�$)3�+;+<�<�-))�$)3�+ก7�)
"
 .01����	�,*�6*�+61�	*
�$� 
�!"#$/$521�<�-))�$)3�+
"
 

4.  ��)��+-))�$)3�+:�#;61��)ก7�)
"
+�-71�
�6�7"$กn)�):�#�+)0� 9̀�!"#$
6���
�
ก��*�+/��
*$
ก������	*<$;� 
 

ก����
 ���()&#��'� 
 
  5
ก������	
����
�� .01����	5�1
$+!���*$�9D��-ก�+�����=��0� SPSS for  Windows 
(Statistical Package for the Social Sciences )  D6	6���
�
ก��*�+/��
*$
6��
�� 

1. �+"#$�ก=)��)��+/1$+07���=����	)�1$	-71� .01����	6���
�
ก��*����$)
��+
�+)0� 9̀/$�-))�$)3�+   

2. -))�$)3�+*$
:�# 1 ���
-))�$)3�+�ก�#	�ก�)�3�
\�!/$�.01*$)
-))�$)3�+ ���
��,29/1$+072�
<����
�
  -7,2�
<��1$	7, 

3. -))�$)3�+*$
:�# 2 ���
-))�$)3�+�ก�#	�ก�)ก���(�)�*���
*�+
ก�,)�
ก�����-.
/$�.01)��2���3�
%&ก'�/��
!"�
4�
 ���2��6��/7� ���
��,29/1$/1$+0761�	 

<��n7�#	 (Mean) -7,�<�
�)�#	��)
+�*�4�
 (Standard Deviation ) D6	
���ก`d9��+)0� 9̀(Absolute  
Criteria)*�+-
�:��/$��)�*9 (Best, $1��3&�5
 ��
 �6�!���	, 2535 : 531- 532) +�-�7
��+2+�	
/$�
<��n7�#	6��*<$;�
��  

   4.51 - 5.00  2+�	3&�       ก���(�)�*���
*�+ก�,)�
ก�����-.
+�ก:�#�86 
   3.51 - 4.50         2+�	3&�        ก���(�)�*���
*�+ก�,)�
ก�����-.
+�ก 
   2.51 - 3.50         2+�	3&�        ก���(�)�*���
*�+ก�,)�
ก�����-.
��
ก7�� 
   1.51 - 2.50         2+�	3&�        ก���(�)�*���
*�+ก�,)�
ก�����-.

1$	 
   1.00 ~ 1.50        2+�	3&�         ก���(�)�*���
*�+ก�,)�
ก�����-.

1$	:�#�86 
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5. ����	)�:�	)ก���(�)�*���
*�+ก�,)�
ก�����-.
/$�.01)��2���3�
%&ก'� ���2��6
��/7�  :�#�����=�ก��%&ก'���/�����*<��ก�
���
��,29/1$+0761�	
<��3�*� t-test -)) Two-Independent 
Sample Test  

6. ����	)�:�	)ก���(�)�*���
*�+ก�,)�
ก�����-.
/$�.01)��2���3�
%&ก'�/��
!"�
4�
 
���2��6��/7� :�#+���,�)ก�� 9̀*<��ก�
 ���
��,29/1$+0761�	
<��3�*� One-Way ANOVA Test    �+"#$
!)
��+-*ก*<��ก�
$	<��+�
�	���
�]:���3�*��,:��ก������	)�:�	)ก�
���
��	
0< *�+��g�/$���v�v� 
(Scheffe/s Method) 

7. ����	)�:�	)ก���(�)�*���
*�+ก�,)�
ก�����-.
/$�.01)��2���3�
%&ก'� ���2��6
��/7� :�#+�/
�6�3�
%&ก'�*<��ก�
���
��,29/1$+0761�	 
<��3�*� One-Way ANOVA Test  �+"#$!)

��+-*ก*<��ก�
$	<�� +�
�	���
�]:���3�*��,:��ก������	)�:�	)ก�
���
��	
0< *�+��g�/$���v�v� 
(Scheffe/s Method) 

8. �i]2�-7,/1$��
$-
,:�#���

��3�+�7�	��j65
*$
:�#3 5�1���
��,29�
"�$2� (Content 
Analysis)D6	ก����1���ก`d9/&�
+�5
�0�/$�*�������
��,29   $�
��,ก$)61�	31$	
��  \�'�:�#+�

��+2+�	*��ก�)�
"�$2�:�#*1$�ก�����
��,29-7,5�1��g�ก��
�)���
�

����/$��
"�$2�*�+:�#���ก(
��8�$$ก+�5
�0�/$�ก��)��	�	 D6	��6���	�*�+7��6�)
��+3�# -7,��
$/1$+07���
*������,ก$)

��+���	�  
 

$*������"�#"�ก������� 
 
  ก�����
��,29/1$+07-7,2�
<��3�*�*<�� l ���
��,29/1$+0761�	�
�"#$�
$+!���*$�9  
D6	5�1D��-ก�+�����=��0�:���3�*�  
<��3�*�:�#5�15
ก������	 +�6��
�� 

1.  �3�*�5�15
ก��*����$)
8`\�!/$��
�"#$�+"$ 
         1.1  ก��2�
��+*��*�+�
"�$2� (Content Validity) /$�-))�$)3�+-7,-))

��+\�' 9̀D6	ก��2�
<�6��
�
��+�$6
71$�/$�/1$
��3�+ก�)��,�6=
:�#%&ก'�*�+��g�ก��/$�  
D����
77� -7,-o+�)�7*�
(Rovanelli and Hambleton, $1��3&�5
 .<$�%��  �� �̀�	9%8\��%9 ,2546 : 
140) 
 

          IC         
N

R∑
=  

                                        

�+"#$  IC      -:
  6��
�
��+�$6
71$��,2�<��/1$
��3�+ก�)7�ก'`,!s*�ก��+ 
    ∑R  -:
  .7��+/$�
,-


�+
�6�2=
/$�.01���#	���]5
-*<7,/1$
��3�+ 
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         N        -:
  ���
�
.01���#	���] 
 

1.2  �3�*�:�#5�15
ก��2�
<�
��+��"#$+�#
 �3�*�:�#5�15
ก��2�
<�
��+��"#$+�#

-))�$)3�+  :���n)�)5�1��g���+��,��:g�u-$7v�(Alpha  Coefficient) /$�
�$
)�
 
(Cronbach, 1990 : 204) +��0*�6��
��   

            α k            = 
( ) 







 −

− Total

items

S

sSum

k

k
2

21

1
 

              �+"#$    α k         -:
    
<���+��,��:g�u
��+��"#$+�#
 
                 K         -:
    ���
�
/1$/$��
�"#$�+"$ 
              S 2

items      -:
    
,-


��+-�����
���
��	/1$ 
              S2

Total
    -:
    
,-


��+-�����
/$��
�"#$�+"$:���n)�) 

 

2. �3�*�:�#5�15
ก�����
��,29/1$+07 

          2.1  
<�
��+3�#   (Frequency) 
          2.2  
<��1$	7,   (Percentage)  +��0*�6��
�� 
    

     �1$	7,     = 
+6���
�
:���2

100��	ก��
��

��+3�#/$� ×
 

     2.3  
<��n7�#	  ( Mean)  5�1�0*�  (Ferguson,1990 : 49)  
 

        X      = 
N
X∑

 
 

  �+"#$   X     -:
    
<��n7�#	 
        X∑   -:
    .7��+/$�
,-

:���2+6 
            N    -:
 ���
�
ก78<+*��$	<��     

          

       2.4  
<��<�
�)�#	��)
+�*�4�
 (Standard Devetion)5�1�0*�(Ferguson ,1990:68) 
 

           SD   =     ( )
( )1

22

−
∑−∑

NN

XXN  
 

                          �+"#$  SD     -:
    
<��)�#	��)
+�*�4�
 

      2X∑   -:
   .7��+/$�
,-

-*<7,*��	กก��7���$� 
     ( X∑ )2 -:
   .7��+/$�
,-

:���2+6	กก��7���$� 
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       N    -:
   ���
�
ก78<+*��$	<��:�#*$)-))�$)3�+ 
3.  �3�*�:�#5�15
ก��:6�$)�++*�4�
 

   3.1  :6�$)
��+-*ก*<���,2�<��
<��n7�#	/$�ก78<+*��$	<��  2  ก78<+  
"$  
.01)��2���3�
%&ก'�:�#�����=�ก��%&ก'���/�����*<��ก�
D6	5�1ก��:6�$) t ~ test    +��0*�6��
�� 
(Hinkle, 1982 $1��3&�5
71�
  ��		%  -7,  $��
`�  ��		%,  2536 :101-102) 

        3.1.1  5
ก� �̀:�#
��+-�����
/$�ก78<+*��$	<���:<�ก�
5�1�0*�6��
�� 
 

�0*�  t = 
( ) ( )









+
−+

−+−

−

2121
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